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b1-ch4-5-rev.R Histogram of poi3 Histogram of poi5

set.seed(12345)

Frequency
Frequency

n<-10000;

poi3<-rpois(n, 3)
poi5<-rpois(n, 5)
poil0<-rpois(n, 10)
poil5<-rpois(n, 15) Histogram of poi15

par(mfrow=c(2,2))
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hist(poi3, breaks=100, xlab="mu=3")
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hist(poi5, breaks=100, xlab="mu=5")

hist(poil5, breaks=100, xlab="mu=15")




bl-ch4-6.R

par(mfrow=c(2,2))

lambda_list<-c(3, 5, 10, 15) # Lot

x_list<-30 # LM BI+E xF 0| 20{Z Z[CHES

for (iin 1:length(lambda_list)) {
p_x<-dpois(x=0:x_list,lambda_list[i])

plot(x=0:x_list, p_x, xlab="x", ylab="P(X=x)", ylim=c(0, 0.25),

xlim=c(0,x_list), main=paste("lambda=", lambda_list[i]))

x_seq<-seq(0,x_list,1)

lines(x_seq, p_x, type="h", col="blue")
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bl-ch4-7.R

poill<-rep(NA,5);poil2<-rep(NA,5);poil3<-rep(NA,5);poild<-rep(NA,5)
poil5<-rep(NA,5);p0il6<-rep(NA,5);poil7<-rep(NA,5);p0il8<-rep(NA,5)
poill[1l]<-ppois(0, 0.02);p0il2[1]<-ppois(0, 0.04)

poil3[1]<-ppois(0, 0.06);poild[1]<-ppois(0, 0.08)

poil5[1]<-ppois(0, 0.1);p0il6[1]<-ppois(0, 0.2)

poil7[1]<-ppois(0, 0.3);p0il18[1]<-ppois(0, 0.4)

for(iin 2:5) { poill[i]l<-ppois(i-1, 0.02) }

for(iin 2:5) { poil2[i]<-ppois(i-1, 0.04) }

for(iin 2:5) { poil3[i]<-ppois(i-1, 0.06) }

for(iin 2:5) { poil4[i]l<-ppois(i-1, 0.08) }

for(iin 2:5) { poil5[i]<-ppois(i-1, 0.1) }

for(iin 2:5) { poil6l[i]l<-ppois(i-1, 0.2) }

for(iin 2:5) { poil7[i]l<-ppois(i-1, 0.3) }

for(iin 2:5) { poil8Ji]<-ppois(i-1, 0.4) }
round((poi<-cbind(poill,poil2,p0il3,p0il4,poil5,poil6,poil7,poil8)),digits=3)

= round({poi<-cbind{poill,poil2,poil3,poild,poils,poils,poil?,poil8)),digits=3)
poill poil2 poil3 poild poilS poilé poil? poils
[1,] LOE 0,981 0,942 0,923 0.905 0,819 0,741 0,670

[2,] .00 0,999 0.998 0.997 0.995 0.982 0.963 0.938
[3.] .00 1.000 1.000 1.000 1.000 0.999 0.99& 0.992
[4,] .00 1,000 1.000 1.000 1.000 1.000 1.000 0.999
[5.] .00 1.000 1.000 1.000 1.000 1.000 1.000 1.000
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b1-ch4-2-rev.R Histogram of binom1 Histogram of binom2

set.seed(12345)
r<-10000

1000 2000

Frequency
Frequency

binom1<-rbinom(r, 25, 0.1)

0

binom2<-rbinom(r, 25, 0.2)
binom5<-rbinom(r, 25, 0.5)
n=25 p=0.1 n=25 p=0.2
binom7<-rbinom(r, 25, 0.7)
par(mfrow=c(2,2)) Histogram of binom5 Histogram of binom7
hist(binom1, breaks=100, xlab="n=25 p=0.1")

hist(binom2, breaks=100, xlab="n=25 p=0.2")

Frequency

hist(binom5, breaks=100, xlab="n=25 p=0.5")
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Frequency
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hist(binom7, breaks=100, xlab="n=25 p=0.7")

0
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n=25 p=0.7




par(mfrow=c(2,2))
n<-25 # A3l

p_list<-c(0.1, 0.2, 0.5,0.7) # L= E

for (i in 1:length(p_list)) {
p_x<-dbinom(x=0:n, n, p_list[i])
plot(x=0:n, p_x, xlab="x", ylab="P(X=x)",
ylim=c(0, 0.3), xlim=c(0,n), main=paste("p=", p_list[i]))
X_seq<-seq(0,n,1)

lines(x_seq, p_x, type="h", col="blue")
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bl-ch4-4.R

binom11<-rep(NA,5);binom12<-rep(NA,5);binom13<-rep(NA,5);binom14<-rep(NA,5)
binom15<-rep(NA,5);binom16<-rep(NA,5);binom17<-rep(NA,5);binom18<-rep(NA,5);binom19<-rep(NA,5)
binom11[1]<-pbinom(0, 5, 0.1);binom12[1]<-pbinom(0, 5, 0.2);binom13[1]<-pbinom(0, 5, 0.3);binom14[1]<-pbinom(0, 5, 0.4)
binom15[1]<-pbinom(0, 5, 0.5);binom16[1]<-pbinom(0, 5, 0.6);binom17[1]<-pbinom(0, 5, 0.7);binom18[1]<-pbinom(0, 5, 0.8)
binom19[1]<-pbinom(0, 5, 0.9)

for(iin 2:5) { binom11[i]<-pbinom(i-1, 5, 0.1) }

for(iin 2:5) { binom12[i]<-pbinom(i-1, 5, 0.2) }

for(i in 2:5) { binom13[i]l<-pbinom(i-1, 5, 0.3) }

for(i in 2:5) { binom14[i]<-pbinom(i-1, 5, 0.4) }

for(i in 2:5) { binom15[i]<-pbinom(i-1, 5, 0.5) }

for(i in 2:5) { binom16[i]<-pbinom(i-1, 5, 0.6) }

for(iin 2:5) { binom17[i]<-pbinom(i-1, 5, 0.7) }

for(i in 2:5) { binom18[i]<-pbinom(i-1, 5, 0.8) }

for(i in 2:5) { binom19[il<-pbinom(i-1, 5, 0.9) }

round((binom<-cbind(binom11,binom12, binom13,binom14,binom15, binom16,binom17,binom18, binom19)),digits=3)

= round{(binom<-cbind{binomll,binoml2, binoml3,binomld,binomls, binomlé,binoml?,binoml&, binoml9)),digits=3)
binomll binoml12 binoml3 binomld binomls binomlé binoml? binoml& binoml@
[1,] 0. 590 0. 328 0.168 0.078 g.031 0.010 0.002 0,000 Q. 000

[z,1] 0.919 0.737 0.528 0.337 0.187 0.087 0.031 007 0. 000
[3,] 0.991 0,942 0.837 0.683 Q. 500 0.317 0.163 L0358 Q. 009
[4,] 1.000 0.993 0.969 0.913 0.812 0.663 0.472 . 263 0.081
[5.] 1.000 1. 000 0.998 0.990 0.969 0.922 0.832 . 672 0.410




